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1.

There are 64 pages in all in this Question-
Booklet. Immediately after opening the seals,
check to ensure that there is not defect in the

(%ucstion-Booklct and all the pages are intact.
If any defect is detected, immediately inform
the Room Invigilator. [f necessary, the

Question-Booklet will be replaced.
There are in all 200 MCQ in this Question-
Booklet. Each question carries 1 mark. No
negative marks will be awarded for wrong
answers. '

Answer the questions in OMR answer sheet
only.

Read the instructions given in OMR answer
sheet carefully before answering.

There are four alternative choices against each
question. Select the correct and most
appropriate choice and mark it with blue/
black ball point pen in the right bubble of the
OMR answer sheet in such a way that ink does
not spread out of the bubble.

Rough Work can be done in specified space
given at the end of this Question-Booklet.

If you cannot answer a question, proceed to
the next one. Don't waste time unnecessarily.
Do not fold or damage the OMR answer sheet
any way. -

After examination submit your OMR answer
sheet to the invigilator. Candidates are allowed
to take away the carbon copy of OMR answer
sheet and Question-Booklet.

P.T.O.
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With whose permission did the
English set up their first factory in

Surat?

(A) Akbar

(B) Jahangir
(C) Shahjahan
(D) Aurangzeb

Which among the following
countries has the world's largest

reserves of Uranium?
(A) Australia

(B) Canada

(C) Russia:

(D) USA

Which one of the following rivers
originate in India?

'(A) Brahmaputra

(B) Indus

(C) Chenab

(D) Sutlej

Which one among the following has

“the highest energy?

(A) Green light

_(B) Red Light

(C) Bluelight
(D) Yellow light

Under the constitution of India,
which one of the following is not a
fundamental duty?
(A) To vote in public elections
(B) To develop the scientific
temper
(C) To safeguard public property
(D) To abide by the constitution
and respect its ideals
P.T.O.
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D

All revenues received by the Union

Government by way of taxes and
other receipts for the conduct of

Government business are credited
to the -

(A) Contingency fund of India
(B) Public Account

(C) Consolidated fund of India
(D) Deposits and Advance Fund

Which of the following add carbon
dioxide to the carbon cycle on the

planet Earth?

1. Volcanic action

2. . Respiration

3. Photosynthesis

4. Decay of organic matter
Select the correct answer using the
code given below -

(A) 1and 3only

(B) 2and 3 only

(C) 1, 2 and 4 only

(D) 1,2,3and 4

Which of the following statement/s
is/are true about 95th Oscar

Awards-2023-

1 - Best Picture - RRR

2. Best Documentary Short Film-
The Elephant Whisperers

3. Best Actress - Michelle Yeoh

(A) 1and?2 |

(B) 2and3

(C) 1and 3

(D) only 2
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10,

11.

12.

D

World Press Freedom Day is

celebrated on-
(A) 3 May

(B) -3 June

(C) 5 May

(D) 5 December

Which of the following statements
are true about sports-
1. Argentina was the winner of

FIFA World Cup-2022.

' 2. India ranked third in medal tally

in Commonwealth Games 2022.
3. Australia was the winner of ICC
T-20 Women's World Cgp-2023.
(A) 1and3
(B) 2 and3
(C) 1and 2
(D). All of the above

Which one of the following is the
oldest mountain range in India?
(A) Satpura '

(B) Vindhyanchal

(C) Aravali

(D) Garo and Khasi

Which of the following Articles of
the Indién Constitution empowers
the Governor to issue the
ordinance? ‘
(A) Article 210
(B) Article 211
(C) Article 212
(D) Article 213

' P.T.O.
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13.

14.

15

16.

~ Panchayati Raj system is to ensure

No-confidence motion, tq be

admitted in the Lok Sabha, Neeq
the support of how many Mpg,

(A) 80
(B) 240
(€) 273
(D) 50

Central Vigilance Commission wg,

set up on the recommendation of.

(A) First Administrative Refo_rm
~ Commission

Gorwala Report -

Kriplani Committee

Santhanam Committee

(B)
(C)
(D)

Both the District and Sessiong

Judge works directly under the
control of-

(A) District Collector

(B) Governor of the state’
(C) High Court of the state

(D) Law mini_ster of the state

The fundamenta| object of

which among the following-

‘1. People's participation in
~development .

2. Politica| accountability

i- Democratic decentralization

Financial mobilization

Select the correct answer using the
Code given below-

(A) 1,2 anqg 3 only

(B) 2and 4 op), -

(C) 1ang 3 only

(D) 1, 2,3 ang 4
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18.
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20.

D

Which one of the following is used

in preparing a natural mosquito
repellent?

(A) Elephant grass

(B) Nut grass

(C) Lemongrass

(D) Dub grass

Which mineral is mainly found in

Jhiroli (Bageshwer) and Chandak

(Pithoragarh)?
(A) Magnesite
(B) Graphite

- (C) Dolomite

(D) Gypsum

Which Mughal prince took aSyIum
at Srinagar (Garhwal) in 1658 A.D.?
(A) Nazawat Khan

(B) Sulaiman Shikoh

(C) Dara Shikoh

(D) Mirza Mughal

Bhimbetaka is famous for -
(A) Pre-historic paintings
(B) Stupas

(C) Sculptures

(D) Temples

- P.T.O.
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Which of the following Promote,
;

ational integration and Provide
n
upport to local handicrafts ang
s

ite?
cultural pursuuts.
(A) Sports
(B) Services

(C) National Heritage

(D) Tourism

In which session the goal of India's

complete independence was
announced by the Congress?

(A) Calcutta Session, 1928

(B) Lahore Session, 1929

(C) Allahabad Session, 1930
(D) None of these -

In India, how many states share the

coastline?

(A) 10
(B) 9
(C) 8
(D) 6

Which' of the following is not a
natural Polymer?

(A) Cellulose

(B) Plastic

- (C) silk

(D) RUbber
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D

Which of the following converts high
level language into machine
language in Computer?

(A) Assembler |

(B) Interpreter

(C) Compiler

(D) None of these

Who appdints the Chairman of the
State Public Service Commission?
(A) The Chief Minister of the State
(B) The President of India

(C) The Governer of the State

(D) The Chairman of the Union

Public Service Commission

Which is the Iohgest river in

Peninsular India-

(A) Krishna

(B) Mahanadi
(C) Narmada'
(D) Godavari

Which one of the following is not

the work of Reserve Bank of India?

(A) Regulation of currency

(B) Regulation of foreign trade

(C) Regulation of credit

(D) Custody of foreign exchange
funds of the country

P.T.O.
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The main component of L-P.G. is-

(A) Hydrogen
(B) Methan€
(C) Butane

(D) Carbon-di-'OXidE

The largest part of our Hydrosphers

is-
(A) Pacific Ocean

(B) Indian Ocean
(C) Atlantic Ocean
(D) Antarctic Ocean

Who was the founder of 'Servants
of India Society'?

(A) Sarojini Naidu

(B) Jawahar Lal Nehru

(C) Mahatma Gandhi

(D) Gopal Krishna Gokhale

The most famous centre of
education in Maurya period was -
(A) Takshashila

(B) Nalanda

(C) Ujjain

- (D) Lucknow
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34. The largest Glacier of Uttarakhand

35.

36.

- (B)

(D)

(C)

D

is-

(A) Milam
(B) Pindari
(C) Gangotri
(D) Ponting

Which of the following statements
are correct about G-20 summit-

1. G-20 was founded in 2003.

2. G-20 is an intergovernment
forum c.omp'rising 19 countries
and the European Union.

3. The G-20 Leaders Summit at
the' level of Heads of state/
Government is scheduled to

" 'be held on 09 and 10

September 2023 in New Delhi.

1 and 2

2 and 3

1and 3

1, 2 and 3

(A)

(©)

Which of the following is net correct
with reference to 'Jageshwar group
of temples'?

(A) It is the largest group of

temples in the state. .

It is located in Almora district
of Uttarakhand.

The main contribution in the
construction of these temple
groups built in 8th to 10th
century was of Pal Kings.

The oldest temple ;\r this
temple group 18 Mrityunjaya
temple.

(B)

(D)

“'w_ \ ‘\\.\
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37. The M

38.

39.

40.

41.

ost urbanized district ;.

Uttarakhand ol
(A) Dehradunl

ridwar
B) Ha m singh Nagar

in eye donation. WHICH OMI&:af. fh

following parts of doner's eye js

utilized?

(A) Iris

(B) Retina
(C) Cornead
(D) Lens

Which one of the following
dynasties was ruling over North
India at the time of Alexander's

invasion?
(A) Nanda
(B) Kanva
(C) Sunga
(D) Maurya

The Indian National Army (I.N.A.)
came into existence in 1943 in-
(A) Japan .

(B) Burma

(C) Singapore

(D) Germany

Where is 'Go Gumbad'
(A) Hyderabag

(B) Agra

(C) Sasaram

(D)’ Bijapur

situated?
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46.

| D
Which one of the ‘foilowing is the
most fertile soil?

(A) Laterite soil

(B) Sandy loam soil

(C) Alluvial soil

(D) Red soil

Which of the following absorbs
Ultraviolet rays coming from Sun?
(A) Carbon-di-oxide

(B) Water vapour

(C) Ozone layer

(D) Oxygen gas

Whicﬁ of the following is not an
Operating System?

(A) Unix

(B) Linux

(C) Java

(D) Windows-11

Dyarchy was implemented in the
provinces under which Act?

(A) Indian Councils Act 1909

(B) Government of India Act 1919
(C) Government of India Act 1935

(D) None of these

Mahatma Gandhi was referred to

as the 'Father of the Nation' first

by-

(A) Jawahar Lal Nehru

(B) Vallabhbhai Patel

(C) C Rajagopalachari

(D) Subhash Chandra Bose
P.T.O.
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" code given b

~ ne correct chronologicy,
what is t ¢ the following ?
e.0 Education Dispatch
od's minute g,

- tion :
educgargent Education Report
_Irrr\lslan Education (Hunter.
commission)

t answer using the
ct the correc

Sele aloW-

W

(A) 2,143
(8 2,134
(c) 1,2, 34
(D) 43,1 2

Which one of the following has the
highest fuel value?

(A) Hydrogen
(B) Charcoal

- (C) Natural gas

(D) Gasoline

-

The President of Indian National

- Congress at the time of [5artition

of India was-

(A) C. Rajagopalachari

(B) 1.B. Kripalani '

(C) Jawahar La| Nehru

(D) Maulana Abuy| Kalam Azad

Who among the following laid the

foundation of Rashtrakuta Empire?
(A) Dhruva

(B) AmOQhavarsha 1

- (C) Krishna-1

(D) Dantldurga
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T 2P
(A) T3
(B) UM
(C)

(D) §&9

 Fre (s e 52 ¥ 53 ) + I & T
T B TR T b I alfore-

A iR T & 481’ BT awf &

‘sky is blue', '246" @I 3ef & 'séa is
deep' 31k 698" &1 31 & 'sea looks

blue'.

'‘deep' T IS DI AT T ER1I?
(A) 1

(B) 2

(C) 4

(D) 6

52;

53.
(A) 4
(B) 6
(C) 8
(D) 9

DuU23
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52.

53

[D]

51. Pointing out to a lady, Rajan said,
"She is the daughter of the woman
who is the mother of the husband
of my mother". Who is the lady to
Rajan?

(A) Aunt

(B) Grand daughter
(C) Daughter

(D) Sister

Direction (Q. No. 52 to 53) : Read

the following information to answer
these questions-—

In a certain code language, '481'
means 'sky is blue', '246' means
'sea is deep' and '698' means 'sea

looks blue'.

What number is the code for
'deep'? |

(A) 1

(B) 2

(C) 4

(D) 6

What number is the code for
'looks'? "
(A) 4 |
(B) 6
(C) 8
(D) 9

~ PT.O.



54. 3T ¥ Te <2 €, R an and 8k g

59,

el gfe §9 wwy 3Ra Qar g anua)
TS 3R & A 3Ry F 3y fsey R
ERRGIVE

(A) Td @t 3R

(B) uRTH & 3R

(C) I I 3R

(D) af&oT &t 3R

TP ¥ X' BT ALY feawy Frerar
TR 8 R0 7R & It o
AT ST & | IR s fops arr
Pl BN -
(A) 24
(B) 25
(C) 26

(D) 27

56.

A & T 3icp e § O Ry 3 ¥,

ﬁ?ﬂﬁiéﬁﬁqgﬁTSHﬂTéﬁEaﬁfﬁQ:ﬁﬁ
21 -

1 9366395937891639639

(A
(B) &
(C) dF
(D) TR

[16]

54.

55

56.

(D]

Y re walkingd straight, then yoy
ou are |
left. If the setting sun is on

then in which

turned
your left at this time,
direction were You walking initially-
re

(A) towards east

(B) towards west

(C) towards north

(D) towards south

The National 'Day of a country X is

celebrated on the fourth Saturday

of a month starting on Tuesday. On

which date the National Day will be-
(A) 24
(B) 25
(C) 26
(D) 27

How many 3's are there in the

following number series which are

- Notimmediately preceded by 6 and

not immediately followed by 9
9366395937891639639

(A) one |

(B) two

(C) three

(D) four



57. ww@g%mssﬁqﬁwf&c—vﬂ
& ford &7 o B & | yudTe-aerd =

vH Al B Faran & vd a9 20 fee
U & gl @ iR 3l &y 10:356 W
SR qare aed 3 A @ fasa
o @A

(A) 9:40

(B) 9:45

(C) 10:00

(D) 10:15

58. ﬁﬁwmﬁ@amﬁawm
qarst & foa faemelf o1 off we e
e & - X

Bet 40 faemeit

(A) 9 (B) 15
(C) 18 D) 7

59.

(A) 64 (B) 66 (C)68 (D) 70
Du23 ;

D

57. A bus leaves for Delhi in every 55
minutes from a bus stand. An
inquiry clerk told a passenger that
a bus had left 20 minutes earlier
and the next bus would leave at
10:35. At what time the inquiry
clerk has informed the passenger -
(A) 9:40
(B) ,9:45
(C) 10:00
(D) 10:15

58. Study the given diagram carefully
and tell how many students do not

play any game-

Total 40 studehts

(A) 9
(C) 18

(B) 15
(D) 7

59. Count the number of cubes in the

following figure -

(A) 64. (B) 66 (C)68 (D) 70

[17] P.T.O.



60. 37a vas b a= & fere FeafeRaa sl
&l Arg fear siar @, aa e gigr ared
g & [ fasas i aire

-]

L

(A) 1 (B) 2 (C)3 (D) 4

61. & T 3N F Pryst & wva e
Pifore- .

(A) 16 (B) 22 (C) 28 (D) 32

62. eI suysadPp X, v 3k z v =

5 g3 B Bies B BT I R
&l sl z e & 5 fvw woR
Bics IR BT el 14T &1 TP ThH
U 3HT B G & S HhT Z Bl
e IR 9TeT 8N

e followingd figure is foldeq

60. When the T how many doteg

61.

62.

' rm : .
Loozcl’d lie opposite the face bearing
w

five dots? =

w1 @2 (@3 (@)

Find the number of triangles in the

given figuré =

(A) 16 (B) 22 (C) 28 (D) 32

Direction : In this question P, X, Y
and Z are showing a sequence of
folding of a piece of paper. Figure Z
shows the manner in which the
folded paper has been cut. You have
to choose a figure which would

most closely resemble the unfolded
form of figure Z.

.............




63. e : 37 yomr o, 3N 3RYGHY qofET
& 31aRY ik e o wasE R
T 8| 3 fawer @ g o e v
RIS & et wicifor o o &-

~ U4P15B7

(A) NpbTRBA
(B) N<dI2B)
(O NtbT2B)

(D) N<bT28)

64.

forder : Frefeiaa s 4, few e IR

et § W okt (x) & W ador

yfefe &1 T Hifse-

(A) (B) (©) (D)
Frefead R = ReR aRe:
fosar oY &Y 3rrae el ® e I W
e & 7 sl @1 de A & foe
azad fafyE 0 @ GAdH T

T 87 .
O ey
©
)
Q)

(A) 3 (B)4 (C)5 (D) 6

65.

DU23 -

[19]

63.

64.

65.

D

Direction : In this question, you are
given a combination of english
alphabets and numbers. Choose
the alternative which most closely
resembles the water-image of the
given combination-

U4P15B7

(A) NybT2B)

(B) N<di2B)
(C) N¢bT2B)
(D) NtbT28)
Direction : In the following question,

choose the correct mirror-image of
the Figure (X) from amongst the

-“four given alternatives-

)
(A) (B) (C) (D)

Consider the following diagram :
What is the minimum number of
different colours required to paint
the figure given such that no two
adjacent regions have the same
colour? '

(A) 3 (B)4 (C)5 (D) 6

P.T.O.



e (mes W 66 Q 67 aw) = ANl (i)
3R (i) v 39y ads  widfa &1 Ro
fawedt A X v gy gaw anghy
(iii) 3R (iv) & S wa daer enfia
BN, N B (iv) N ueT g @1 e

of
66. E]@:E: ?
(i) (i) (i) (iv)
D2
(A) (B) (C) (D)
67. | N | Al|?
(i) (iiy (i) (iv)
~|<|Y| €
(A) (B) (C) (D)

68. &1 T AR 3l # F 4 v Fi¥aa
I & FAH &1 Eelifd, T i
3= A9 @I a%E & & T8 3PS I
ST 37 < 31677 & -

Z

(C)

A

(A) (B) (D)

DU23

[26]

Diraction ¢ (Q-NO-

66.

67.

68.

D]

66 to 67) : Figure
are related in a particular

Establish the same
ma n'ncrl.]ip 5 e figures P
r(_:lal.lons o ssalg o Floute fror
s byt the given alternatives,
?vrlz]iz}?g\jould replace the questiong

mark in figuré (iv)-

(i) and (ii)

N[
o ) i) (V)
IR
a B (© (D
V | |?
(i @@ (i) (V)
=<l
(A)  (B) (C) (D)

Out of the four figures, three are
similar in a certain manner.
However, one figure is not like the
other three. Choose the figure
whit;h is different from the rest -

A Z

(A)  (B) (c) (D)



69. -l Ue uNy @ ar Refeat & 8 &

g 5 & fauwia Tag uR aar e
(i) (i)
(A) 1
(B) 2
(C) 3
(D) 6
s (wea T 70 ¥ 71 T) : I A,
fer e TR fT@edl | 3T BT B
T BRE 59 @i (X) @ @t
SE (?) ¥ W 3TH W 98 Yoo & )1
) - o
o |\
|?
(X)
(A) (B) (C) (D)
71.
2
(X)
(A) (B) (C) (D)

bu23 -

[21]

69.

70.

1.

D

Two positions of a dice are shown
below. What will come opposite to
face containing 57

(B) 2
(C) 3

(D) 6

Direction (Q.No. 70 to 71): In
following questions, select a figure
from amongst the four alternatives
which when placed in the blank
space (?) of figure (X), would

complete the pattern -

?
(X)
AA A N\
(A)  (B) (O (D)
?
(X)
(A (B) (O (D)
P.T.O.



72

. A0 &Y 7S arpieral ®§ uRads o aifds

HAE
‘% D | A [
F &
@ () (9 ()
(A) cbda (B) cbad
(C) adcb (D) acdb .

e (799 S=1 73 N 75 T6) : TP oI 6,

! e 4o 8 R 2, B Rede

. ad & SR W are, e 3Rk o

fosar T 81 R 39 9@ 2 I YT

& TIBR D! | PIeT Sl 2|

T L s
TR
/‘5}”! ,“'" & _ 2
2 3] [ Q%
&\ AYAN
%\\\
\i\\\\\‘\
73. ﬁmﬁaﬁ@raﬂéﬁwﬁqqﬁaﬁ?
(A) 0 (B) 4 (C)8 (D) 12
24, fras o=t & et &1 Fag 7 gnl?
(A). 8 (B) 16 (C). 20 (D) 24
s R A e e e €2

DU23

(A) 16 (B) 4 (C) 6 (D) 8

[22]

nce of changes in

22 The logical seque™™"
given below 15~

figures

(@) (b (© @
(A) cbda (B) @had
(C) adcb (D) acdb

Q. No. 73 to 75) : A
ach side 8 cm, has
and black on

pirection (
solid cube of € |

[ blue
been painted red, ' _
pairs of opposite faces. It is th'en
cut into cubical blocks of each side

2cm | »
R T A :
2ch \\\\\\%§ \
AN
\Q\\\
AR

73. How many cubes have no face
painted?.
(A) 0 (B) 4 (C) 8 (D) 12
74. How many cubes have only two
faces painted?
(A) 8 (B) 16 (C) 20 (D) 24

75. How many cubes have three faces
painted?

(A) 16 (B) 4 (C) 6 (Dj '8




w1 (s v 76 9 77 @) = e Al
4 o tef & wfvsd wi &1 s s
fo wfosa gavgl @ sy w ol

(A) (B) (C) (D)
77. W B :

Z3)
&
A
IR PIcrAl :
AL 1698 | R
& ) &9
(A) (B) (©) (D)

et (o= e 78 ] 79 aF) « 7 & A
el oY Gl §l et Y IR Picrar
¥ & gie- : .

78. mar@%zﬁ | e

i]Valiplik
IR 3T -

NI

(A) (B) (@ (D)

DuU23

D

Direction : (Q. No. 76 to 77) In
question figure there are the
broken parts of a pattern. Find out
which of the answer figure IS
formed after joining the broken
pieces-

76. Question figure :

Ao
N

Answer figures :

@ 0|

®  ® (© (O

- 77. Question figure :

)
A

Answer figures :

N ZD] | [RB
O W
(A) (B) (C) (D)

Direction : (Q. No. 78 to 79): Choose
the missing figure of the series given

below from the answer figures -
AN 2
Answer figures : |
w ® © o
P.T.O.

78. .Question figures :_




< ([N 2| ?

NESIES (R

(A) (B) (C)  (b)

rer (19 W= 80 § 81 ) : FrafoiRaa

yeAt § 3 ) ool § @ Bl a1 e
faaeq yedarTs fug (?) o wfaenfua
|

80. BEGK : ADFJ :: PSVY :?
(A) ROUX (B) ORUX
(C) "LQUT (D) LOQT

81. K/T 211/20::1/R:?
(B) 11/19
(D) 11/18

(A) 10/18
(C) 10/19
Prfer (o= W 82 2 83 ) : TR A T
e F years g (?) & WH W

B A T 3w -
@
L,'(A) 75 ¥ (B) 26 |
(C) 25 (D) 20

DU23

Answer figures °
SPEE
w @ © )

No. 80 to 81) : In the
uestions, select the
ion from the given
h replace question

Direction (Q-
following d
correct optior
alternatives whic

mark (?)-

- 80. BEGK': ADFJ :: pPSVY : ?
(A) ROUX (B) ORUX
(C) LQUT | (D) LOQT -

81. K/T:11/20 :: J/R: 7

(Bj 11/19
(D) 11/18

(A) 10/18
(C) 10/19

Direction (Q. No. 82 to 83) : Which
number will replace the question
mark(?) in pattern given below-

(20 (90
(A) 75 (B) 26
(C) 28 (D) 20



83.

3 q
7 5
3] 5

15
8

(A) 15
(B) 18
(C) 19
(D) 20

faaeT (79 = 84 R 86 T ) : TS W
# IR fodeg Re e &) e @ i
oo ot 7 5t sy wam &, ve
loae 574 & R &1 Ry ooy &t

@ﬁg“

(A) 9T
(B) TP
(C) 3RMEdg

(D) 3mMgdc

(A) SOTfHrd
(B) @S
(C) Frmifafa
(D) foT

84.

85.

(A) I
(B) Eearame!
(C) UM
(D) FRA

86.

DuU23

[25]

83.

(A) 15
(B) 18
(C) 19
(D) 20

Direction (Q. No. 84 to 86) : Four

options are given in each question.
Three of them are similar in some
way and one is odd. Find the odd
one-
84. (A) Rigveda
(B)
(C)

(D)

Yajurveda
Atharvaveda

Ayurveda
85. (A) Geometry
(B)
(C)

(D)

Algebra
Trigonometry
Mathematics -
86. (A) Plassey
(B) Haldighati
(C) Panipat
(D) Sarnath

P.T.O.



87. 39 URY &1 g v s v wenRa
I & o e R (x) @ MgaR @
STHSAE - [4] 2

1
3

5|6

x)
59 €9 &
(A) (B) (C) (D)

88.
21 90¢ B € & 135" g $ W
T e - :
(A) 6:30
(B) 7:30
(C) 8:00
(D) 9:00

89. %ﬁmﬁaﬁ%ﬁ&ﬂﬁﬁﬁmaﬂﬁ
& 4 TR FAETcl & 1T ST 6Tt R IR f

1 TR P & 7rar & | afe faemedf 3
Ty 75 99 fod 3R 39 125 TR fer
. g i wemge fo 3 e et @ &t
foe?

(A) 35

(B) 40

(C). 45

(D) 50

DuU23

TS IRYE TE1 3 T B WY @@l <@

 [26]

-89.

D]

e that can be made
se the dicé -
v E:(;zliling the given diagram (X) of

a unfolded dice ~

[4]2]
1

3]

5] 6]
(X)

&)

(C)

=0

a3

(B)

kit

D
(A) (D)

88. The right time shown by a clock is
3 O'clock. What will be the time if
the hour hand rotates to 135°-
(A) 6:30
(B) 7:30
(C) 8:00
(D) 9:00

Inan éxamination, a student scores
4 marks for every correct answer
and loses 1 mark for every wrong
answer. If he attempts all 75
questions and secures 125 marks, |
then how many questions he
attempts correctly?

(A) 35

(B) 40

(C) 45

(D) 50



90

. 21 Tistosat @ vab ufes ¥ 1@ A 4

I 73 3R e, Y ag a RR 2
123F & 7| 9ftp & T RR A 39
ugai fReafa @ or?

(A) 10af

(B) 113}

(C) 134t

(D) 143

e - (sre v 91 9 93 ) : FrrfeiRaa

a1.

LI P €& ¥ ufeu e few e e
& IR a5 -

ve Hf¥e e § o wifts ve i o
3R & 353 ufth & a1 BR ¥ dten
JoaT &1 <5 a1 & & & aRe
§od &1 YT, 3 & g at dodt 2
f7a afch 4o a <M1 & S 95 & 3o
&1 s fasrer 3 o & &g dod &
femrer <o & & @ doar &l

57 a2t foyer & el fepemy ks dod
87

(A) 3

(B) 5

(C). 4

(D) 1

- 92. I3 & AN GO BT FT WM &

bDu23

(A) TR=IaI
(B) &8 T

(C) SUA TR
(D) T8 & dren

[27]

90.

D
In a queue of 21 girls, when Monika
shifted 4 places to right, then she
was in 12th place from left. Find
her previous positibn from right
side?

(A) 10th
(B) 11th
(C) 13th
(D) 14th

Direction : (Q. No. 91 to 93) Read

«. 31

92.

the following information carefully
and answer the given questions-

A certain number of persons are
seated in a row and all are facing
north. Ranjan sits fourth from the
left end of the row. There sit two
persons between Ranjan and

~ Seema. Puja sits on the immediate

right of Seema. There sit as many
persons between Puja and Seema
as between Dinesh and Puja. Dinesh
does not sit on the left of Ranjan.

How many persons sit between
Ranjan and Dinesh?

(A) 3

(B) 5

(C) 4

(D) 1

What is the position of Puja with
respect to Ranjan?

(A) Immediate right

(B) Third to the left

(C) Second to the left

(D) Fourth to the right

- P.T.O.



93. ufth # el fasay wfes Ao &7
(A) 9
(B) 6
(C) 10
(D) 11

94, 'WONDERFUL' ¥T& & 31&R) &I quiHteln
S T PHSE L 5T W fovas 3rer)
& wI= uRafaa @ -

(A) TP

() &

(C) @

(D) 79 A Bls &

95. B 9 faded A fedr e g o el
o ST & -

1. 3= 2. o@® 3. REBR
4. BAES 5. gEIRM
(A) 5,3,2,1,4

(B) 3,5,1,2,4

(C) 2,4,1,5,3

(D) 1,2,3,4,5

96. ufz Tl \ipli® T § 'LOSE' &1

I8 'MQVI' foraT 71aT & ar 39T Widhlcicb
TS 'GAIN' BT B8 FT BNT?
(A) HCMR
(B) HDLR
(C) HCLS

(D) HCLR

DU23

[28]

93.

94,

95.

96.

(D]

sitting in the
rsons are
How many P€

row?

(A) 9
(B) 6
() 10
(D) 11

If the word 'WONDERFUL' is written
in alphabetical order, then how
many letters will not change their

place -

(A) One
(B) Two
(C) Three

. (D) None of these

Which alternative represents the
meaningful order of the words given

below-
1. Novel 2. Author 3. Award
4, Story 5. Publication

(A) 53,2, 1,4
(B) 3,5 1,2, 4
(C) 2,4,1,5,3

(D) 1; 2; 3,4, 5

If the code word of 'LOSE' is 'MQVI'
then what would be the code word
of 'GAIN'?

(A) HCMR

(B) HDLR

(C) HCLS

(D) HCLR



07, FWeT sfaren # wertavaas g (7) ¥ worr
U= 3T 3y -
2B, 4C, 8E, 14H, ?
(A) 20K
(B) 22L
(C) 20L
(D) 22K

98. ‘TGS BN W W' F T IR
&, 5r woR o & wiger-----A 21
(A) Tior
(B) OdaR
(C) 3UHRHI

(D) &g

99. afe el wig @ et i gppar &
© A et v 3 & o 3w wE & e
feT P ATaR g -
(a) @R |
(B) HHAR
(C) §uar
(D) HAR

100.0% AR &, A T J 3FOREd T R
3 5af B 0% I Hiered WH W ¢
af C AT & e I W E R
A3k B ¥ O @ # &, & AR A
fopem Tl 2?
(A) 45
“ (B) 46
(C) 47
(D) 48

DU23 . \

97.

B8,

99.

D

What will come in place of question

mark(?) in the following series-
2B, 4C, 8E, 14H, ?

(A) 20 K

(B) 22L

(C) 20L

(D) 22K

"Writer' is related to 'Reader’ in the
same way as 'Producer’ in related

(A) Construction
(B) Contractor
(C) Consumer
(D) Commodity

If the seventh day of the month is
three days earlier than Friday, then
what day will it be on nineteenth
day of that month-

(A) Sunday

(B) Monday

(C) Wednesday

(D) Friday

100.In a queue, A is eighteenth from

[29].

the front while B is sixteenth from
the back. If C is twenty-fifth from
the front and is exactly in the middle
of A and B, then how many persons
are there in the queue?

(A) 45

(B) 46

(C) 47

(D) 48

P.T.O.



\lyﬁ

103.

104.

- TRp=009R A o i 3p1 311

3:d 5 g N ) il & A w

I 5804 ¥ I a1 A e

N5

ot

(A) (5824)' (B) 28
(C) 24 ‘(D) 7

&1 /I |-
(A) 1000 (B) 999

(C) 998 (D) 1010

3 760 H U % B AT W 52% &1
BldT 81 afe 59 awq @ ¥ 750 3 &
S, a1 wfcerd ey Sargd|

(A) 25% (B) 10%
(C) 42% (D) 50%

9 e Rm § sBoC @ WM

qdIge-

c - F

A5G B
- F7 D
 (A) 101° (B) 149°

Du23

(C) 71° (D) 140°

[30]

101.

102.

103.

104.

Vv
C\/F

D]

rhe sum of cubes of two numberg

in the ratio 3. 405 5824, What jg
n Y (el

?
the sum of the numbers:?

(A) (5824)'“ (B) 28

(c) 24 e

If p=999, then the value of

3 \/;(5573‘;:5]:] will be-

(A) 1000 (B) 999

(C) 998 (D) 1010

In selling an article for ¥ 760 there

is a profit of 52%. If it is sold for
¥ 750, then find the profit

percentage.
(A) 25% (B) 10%
(C) 42% (D) 50%

In the figure given below, find the

alue of ~BOC-

-40° 70 31°
E D
{A).1017 - .(B). 149"
(€) 71° (D) '140°



105. @ T amphr A BAC=30"
ZABC=50° qu1 ~CDE=25" @
ZAED &1 719 1 -

(A) 105° (B) 115°
(C) 95° (D) 75°

106. & S=n & 1/33R 14 S @
IR IS T b SR & de
S it
(A) 136 (B) 12
(C) 24 (D) 144

107. QI SRe3iT 1 3T 40 &1 TR T,
SRY TRE Y & TR rT G T,
St e B A T & e
AT FEY B! G Bl IR FId
Bl |
(A) 30 (B) 36

(C) 46 (D) 60

.10'8.. 340! $PTS BT 30 6
(A) 1 (B) 3
(€) .7 (D) 9

DU23 " L [31]

105.

106.

107.

108.

D

In the given figure, /BAC=30",

JABC=50° and ~CDE=25" then

value of ~AED will be-

A
30" E
50° 25"
L D
(A) 105° (B) 115°
(C) 95° (D) 75°

The difference between 1/3 and
1/4 of a number is equal to square
root of that number. Find the

number.
(A) 136 (B) 12
(C) 24 (D) 144

Average of three numbers is 40.
The first number is twice the
second number and second

number is thrice the third number.

-Find the difference between the

'greatest and the smallest number.

(A) 30 (B) 36
(C) 46 (D) 60

The unit digit of 3% is-

(A) 1 - (B) 3
(C) 7 (D) 9

P.T.O.



e (we < 100 D 11 @) 0D Re
e quglRrs A v wigy oY) SR o
gRaR & wavwa) & anur v fazor
awfan i @) R @1 31eaas s
renfRiRad vea) & 3ar iSw -

5

Tl L

IRER & el & Tv=n

109. URER ¥ et 3 3ifgg g
(A) 2.4 (B) 30
(C) 3.4 (D) 4

110. 390 ¥ 7 9T a0t ORART &1
3% T &°
a) 2 (8)
©:F O3

111. IR 9§ 3UEl 9edi el YRaRT &l
yfereTd aar &7
(A) 10% (B) 20%
(C) 30% (D) 40%

112. §@R @I UH qdlg 75% fchal I
o yger 1 af 3 aafts e gar
&, 390 Yo7 aXd €, d 39 aa
dIFl &fehai BT ee UgeH I ifyesar
-
(A) 37/64  (B) 3/4
(C) 1/64. (D) 27/64

DU23

[D]

409 to 111) : The
har diagram given below shows
yar et

the details of PUD'-”F{UOH of abcity
'Ihr‘ hasis of family members,

on » ba

study the diagram and answer

i

' stions—
the followind questio
A5

Direction (Q. NO:

-
a5 A0
40

15 10

13

30 -
251"
20-1
151~
101 .

. |-

‘ ’D 2 3 4 9 I;| '
Z Number of members in family
109. The average number of members
in a family is:

(A) 2.4
- (C) 3.4

0. of families (in thousand)

(B) 30
(D) 4

'110. What is the fraction of families

having members below average?

3 8

(A) © (B) 15
1

(© = ©) +

111. Whatis the percentage of families

having more than four members?
(A) 10% (B) 20%
(C) 30% (D) 40%

112. A fever medicine cures 75%
persons. If three persons
suffering from fever used it, then
probability that all three persons
will be benefited from it is-

(A) 37/64  (B) 3/4
(C) 1/64 (D) 27/64



113.

114

115

DuU23

FrraforRae ferar & x @1 w1 B

(A) 50°
(B) 65°
(C) 75°
(D) 60°

T A Y oS T A B Y o
3 3T 3: 4 &1 T C B TS T

I B P oS X S 7:6 21

Ife T ol IS B oS 84 ST
2, St <Rerell o T v o
HIfe-

(A) 210 cm

(B) 225 cm

(C) 185 cm

(D) 200 cm

Ry 3t 2 Rt gy o 6 were,
12 fpR a1 8 9y 8 &-

(A) T

(B) iR fuxifig

(C) e s

(D) Pl firifi

[33]

D

113. Find the value of x in the following

114,

115,

figure -

(A) 50°
(B) 65°
(C) 75°
(D) 60°

The ratio of the length of rope A

to the length of rope B is 3: 4.

The ratio of the length of rope C
to the length of rope Bis 7 : 6. If
the length of the longest rope is
84 -cm, then find the total length
of the three ropes-

(A) 210 cm |

(B) 225 cm

(C) 185 cm

(D) 200 cm

Which of the following figure has
6 Faces , 12 Edges and 8 Vertices-
(A) Cube'

(B) Square Pyramid

(C) Triangular Prism

(D) Triangular Pyramid

P.T.O.



116, S @ wanE fawd i @

Awer 27 &, ar gun Q) [l &

guif @1 At fsamn e
(A) 235
(B) 225
(C) 215
(D) 130

117. S d 112 Q 91733 R 919 60

118.

119.

Du23

E AT a] afe 39 I=T H 16 9 U

fear s, ar 99 @@ gnme
(A) 11
(B) 14
(C) 12
(D) 17

168 3K 315 & IS T

TOFREUET BT TN &
(A) 10 (B) 7
(C) 3 (D) 12

v Juferd & &1 Pl B AR #igT
T & A9 @1 BWie IR 39T &%

Sd PifaTe-

«~—9cm—

—|
2cm 4cm

",
",
*a, .
s,

(A) 60 cm? (B) 225 cm?

(C) 195 cm? (D) 450 cm?

[34]

116.

117

118.

119,

(D]

The sum of anYy three consecutive
e .

4d numbers i 27, then what wil
;e the sum of the squares of the

first two numbers?
(A) 235
(B) 225
(C) 215

(D) 130

A number when divided by 112
leaves a remainder of 60. If that
number is divided by 16, what will
be the remainder?

(A) 11

(B) 14

(C) 12

(D) 17

The sum of the common prime
factors of 168 and 315 is -

(B) 7

(D) 12

(A) 10
(C) 3

Two corners of a napkin are folded
as shown in figure. Find the area

of the napkin when it is unfolded-

(A) 60 cm? -(B) 225 cm?

(C) 195 cm* (D) 450 cm?



120.

121

122,

123,

Du23

(C) 54°

(C) 550

Y e T qent ¥ smer 0
R~PxQ &I A1 gargu-

(i) 113.1+8.7=p

(i) Q+9.18=15.06

(i) 912.06-R=418.05

(A) 417.670 (B) 415.218
(C) 418.57 (D) 417.57

A & HYRS B0 3:7 3 31y A &,
A AT B FRE:

(A) 780 (B) 720

(D) - 1269

U G BT U IS W eirer 70 9,
QI-gredr (2/5) |7 el 7 3R 9
21 Hiex &R 0 1 T 8| G P
(A) 40 m
(C) 8_0 m

o e 3 J90f 8 & fore b
37 BT 36% U BT Il &l T
@ 3 113 3 e fe 3iR 85 3id!
< 3T B e | siftiad
3P &

(A) 500

(B) 60 m
(D) 90 m

(B) 198

(D) 1000

- [35]

120.

121.

1232

123.

D

Find the value of R-PxQ on the

basis of following given facts-

(i) 113.1+8.7=P

(i) Q+9.18=15.06

(i) 912.06-R=418.05
(B) 415.218
(D) 417.57

(A) 417.670
(C) 418.57

If two supplementary angles are
in the ratio 3:7, then the difference
between them is- '

(A) 78° (B) 72°
(C) 54° (D) 126°

One fourth of a pole is painted red,
two-fifth (2/5) is painted blue and

rremaining 21 m is painted green.

The total height of the pole is-
(B) 60 m
(D) 90 m

(A) 40 m
(C) 80m

In an examination, one should get
36% of the maximum marks to
pass. A student obtained 113
marks and is declared fail by 85
marks. The maximum marks are-

(A) 500 (B) 198

(C) 550 (D) 1000

PoT.0,




124,

125.

126.

127.

pu23

"(C) 5

x_9 6 y-X
g e (5
7 &-

9 95

19 109
(©) 119 (D) 119

& S anghy § aft AB=BC=CD &,
ar & TS 3P BT URAT -

A B . C D
«—42 cm——>

(A) 108 cm - (B) 112 cm
(C) 124 cm (D) 116 cm

& 7€ 3 4 B, D, F 3R H HH:
AC, CE, EG 3R GA & 7ez fog &l
BIifehd W BT SABe S DIfTE,
uﬁAGEcuasmoafr@ﬁ‘r eﬁw

Halel’ c

F
(B) 100/3 cm?
(D) 50 cm?

(A) 25 cm?
(C) 35 cm?
-4 12 6-2x
(3] (3 -(F]

HAF S - |
(A) -1/5 (B) =5
(D)4

[36]

x 9
124. 1f =g

125.

126.

127,

D]

then the valuelof

(6_ + X—:}E']is -
7"y
95
9 95
™ 156 D) 119
109
19 109
(€) 1i9 (®) 119

igure, if AB= BC=CD,

In the given fi :
then the perimeter of the given

figure will be:
B . C D
«——42 cm—>
(A) 108 cm (B) 112 cm
(C) 124 cm (D) 116 cm

In the given figure, B, D, Fand H
are the mid points of AC, CE, EG
and GA respectively. Find the area
of the shaded. portion, if AGEC is

a square of area 100 cm?.
& A

\_\

—
—
=

[
L&}

m

(A) 25 cm?  (B) 100/3 cm’
(C) 35 cm? (D) 50 cm’

3 .
If @ x[%]lz ;[345}6 " then
value of x is - i
(A) -1/5  (B) -5
(C) 5 (D) 4



128. ¥ SN 3 Roery s

(A) 1
(B) 3
(C) 4
(D) =

129. T 3i® O Ta9 oS =T $ fw
I 3 B-
(A) IXIXIX
(B) CMXCIX
(C) CMIXIX
(D) CMIC

130. @ TE 3l # e wafia Xam

(A) O
(B) 1

(¢} 2 |
(D) & AW T

bu23

[37]

D

128. How many faces does this solid

149,

130.

have?

(A) 1
(B) 3
(C) 4
(D) o

Roman numeral for the greatest
three digit number is-
(A) IXIXIX (B) CMXCIX

(C) CMIXIX (D) CMIC

How many lines of symmetry

does the given figure have?

it
i
i

(A) 0
(B) 1
(C) 2

(D) None of these

P.T.O.



131,

132,

133.

134.

5 el @1 e 20 #| ufk b
T ) gel T e A A HEaisi
&1 e 23 8 oar &, ) fFwien 18
e &
(A) 4
(C) 100

(B) 92
(D) 8

&<, YW | TR A1 87 &1 die ¥

Ugel X, W N A AT 987 A1)

PR P! IIHM 377 AT -
(A) 10 dY (B) 42 aY
(C) 0@ (D) 28a¥

U AT ¢, 80 fowl/der @ i |

et Y& &, U HIHTIS! & 3T & 6 Be.

91E U Ye9 ©IH A Fraera & 31k 4
be T 39 3 Fidbet S & | ATermST
@ Tifey T &2

(A) 32 foHr./a.(B) 48 fﬁmﬁ’r./ﬁ.
(C) 60 feet./d.(D) 50 foet. /.

X e 3: 4 35 S 4 & 3t 3

.99, 31R . 9.9. &I 0w 10800

3 <emsit 1 AN T

(A 190

-DU23 -

(B) 70

(C) 210 (D) 30

[38]

131,

132.

133

134.

Five years a

(D]

The mean of 5 numbers is 20, 1y

one number is excluded, mean of

the remaing number becomes 23,

then the excluded number is-

(By 92
(D) 8

(A) 4
(C) 100

Karan is four times as old as Ram,
go Karan was seven
times as old as Ram. Find the
preseht age of Karan -

(A) 10 years (B) 42 years

(C) 40 years (D) 28 years

A péssenger train, running at a
speed of 80 km/hour, leaves a
railway station 6 hour after a
goodé train leaves and overtakes
it in 4 hour. What is the speed of

the goods train?

(A) 32 km/h * (B) 48 km/h

(C) 60 km/h (D) 50 km/h

Two numbers are in the ratio 3:4
and the product of their LCM and
HCF is 10800. Find the sum of
the numbers.
(A) 190
(€)' 210

. (B) 70
(D) 30



135, gfe (256)»=64, g} x .EbT a9 &-

(A) 1 (B) 2
(C) 3 P (D) 6

136. 12 G 41 15 Hfiemsil ot o g
20ﬁ=ﬁﬁﬁmmg|4waﬂ%
Ateeait 3 59 oW @ )T & |
febeeTT <7y b

(A) 15 &g (B) ,25%#
(© 30fF (o) 40fm 3

137. HM §dm0-

34 {(8 -5) +{(4 2 & %JH

(A) 13/17  (B) 17/13_

(C) 68/13 (D) 13/34

Wéﬁﬁ@ﬁﬁ%ﬁﬂu\mw%sﬂ?
| B! FUE 2: 3: 4. & T &
(A) 2,3,4 (B) 4,9, 16
(C) 4,6,8 (D) 8 12,6

Du23

135.

136.

137.

138.

[39]

D

If (256)*%=64, then value of X

is-
A1  (B) 2
(C) 3 (D) 6

A work is done by 12 men or 15

women in 20 days. What is the

time taken by 4 men and 5

~ women to comp'lete this work?

(A) 15 days (B) 25 days

(C) 30 days (D) 40 days

Find the value ; _

_ 3{(8—5)*{(4'2):[5*.%}]

(A) 13/17 (B) 17/13 .

(C) 68/13 (D) 13/34

The s.um of the squares of three
numbers is 116 and their ratio is -
2: 3: 4. The numbers are-

(A) 2,3,4 (B) 4,9,16

(C) 4,6,8* (D) 8,12,6
P.T.O.



139. forad 3 faftm si & 0N 4 sidw

R T8 = 3R Y BN 6-37
TR BT AT 5T DU

(B) 109989
(D) 1000989

(A) 109999
(C) 110020

' 140. FIHIR I 1741 TR H 85 B TR

141.

DU23

ST & 31K 391 e 3 3t 3 7
mél 1741 URY & &1 391 3ikga

1 &P
(A) 34 (B) 31
(C) 39 (D) 37
1 1 1.:-2 3
23313 T o T AR
1
OF ®) <
1
© 32 (D) %
"aft x:y=3:5, a A 3x+dy
8x+5y Fd BIfTe-

(A) 39:49  (B) 29:50

(C) 29:49 (D) 39:50

[40]

139.

140.

141.

makes a

(D]

find. the sum of 4-digit greateq

number and 6'd|g|t SmaHE‘St
each having three

number;

different digits-

(A) 109999 (B) 1099gg
(c) 110020 (D) 10009gg

Suryakumar in his 17th inning
score of 85 and thereby
increases his average by 3. What

isl his average after the 17th

inning?
(A) 34 (B) 31
+(C) 39 (D) 37
ind th f }_ l l E
Find the average O 4'3'2'3
3
and &£
1 1
5 1
(© 3 (D) £

142.

If x:y=3:5, find the ratio 3x+4y:

8x+5y-
(A) 39:49 (B) 29:50
(C) 29:49

(D) 39:50



143.

144,

145.

146.

Du23

277103 oy _ 27213), 257 x 64" x 36"
9% x V4

®T HH TR0 -

(A) 38

(B) 42

(C) 10

(D) 1

I & 31T Resit a7 3t &

(A) 10.1 B) 12.8

(C) 10 (D) 12.9

T o5t 3ricpet @1 age® 45 & Fom

wTed 27 € df \regd gn-

(A) 30 (B) 27

(C) 33 (D) 36.5

35 faenfRfat @ ve e &1 3T Wk

45 o & e férerd @ oot it

e 51 & sita a7 500 TT

STaT 21 781 &1 a5 Bn-
(A) 63 kg (B) 62.5 kg

(C) 45.5 kg (D). 65 kg.

[41]

143.

144.

145.

146.

D

Find the value of

25" x 64" x 36"

——————
9" x4

27173 (2713 - 27213)+
(A) 38
(B) 42
(C) 10

(D) 1

Average of first ten- prime

numbers is-
(A) 10.1 (B) 12.8
(C) 10 (D) 12.9

If mode of a data is 45 and mean

is 27, then median will be-

(A) 30 " (B) 27

(C) 33 (D) 36.5

_The mean weight of a class of 35
s_tudents is 45 kg. If the weight
of the teacher be included, thé
mean weight increases by 500
grams. The weight of teacher will -
be-

(A) 63 kg (B) 62.5 kg
(C) 45.5kg (D) 65 kg. -

P'TIOI



147. 11 Qarol &1 [reg 50 #) af vent 6
Refol & ATe 49 # 3k aifir 6 dawi
& AT 52 ® @) wor Yaqvr Q-
(A) 55 (B) 56
(C) 57 (D) 58

148. @a%%mmﬁ@mmaﬂ?m@m%!
gl 3% R e ar 200 & sk ol
R o 580 &1 Rifdame F ey
ERE? |
(A) 100
(C) 110

(B) 180
(D) 120

149. TP T @ HHT § eNGR & -
10% &I HART gfe B 7| §: a7
B 3RS BiFa o BT 5 forw 7oy
& oa § foa uferera & i e
grir?
(A) 17.64%
(B) 17.36%
(C) 16.36%

(D) §9H | BIg &l

150. ﬁw%ﬁzaajaasmmiﬁrtrﬁm-

1

SN SO T T

TS AP
. g
(A) 9 (B) 10
(C) 11 (D) 101

DU23

[42]

- 149.

o of 11 observations jg 50
a [

Me i

st six observay .
meanazzﬁrthat of I?Jsfns.'s
ions is 52, then the Six;

as
(B) 56
(D) 58

147.

t
observa ;
ober\fﬂtion will b

(A) 55
(C) 57
In a z00, there are rabbits .
pigeons: If their heads ,
counted, there are 200 and ey
unted, there are 580, Hoy

148.

are CO
many pigeons are there in 3o,

(A) 100 (B) 180
(C) 110 (D) 120

The price of an article yy;
increased two times successively

- by 10% each time. By why
percent should be the new pri
be reduced SO as to restore the
original price? ’
(A) 17.64%

(B) 17.36%
(C) 16.36%
(D) None of these

150. Simplified value of the followind

€Xpression will be-

1
1
- -1t 1 _
100-¥89 o9 -5 * Ton - 77 " Tor 16
)|
1

(A) 9 (B) 10
(C) 11 '

(D) 101



153.

Du23

ﬁ"-] SRS
ﬁ;m N SR wremauy
AT ST Wapan -

(A) 0 Renfied o) wof wRymfian
R w5

(B) T ) &1 siftyaseny 3uein
WS

(C) UIST qoas @ W & g@
W & W 3§ W s

(D) TR Snawesar aroy w=at @y dar

A RIP FRE

39 T Fa & oD o

UEa B HAT?

(A) Il 38 o siar o se o
G a3 axa gl

(B) :ﬁw%\%aﬁmﬂ%m

|

(C) aft ag o R & & 1 wri
@ A &l
@A §CT &

U 1- o Reneif & e @ yiiad
R a1 98 § PR ¢l

Wl S

o 2- maﬁwﬁuﬁm@@ﬁﬁ

[43]

151,

152;
~ child in your class?

153.

()

D

Inclusive environment in the

school can be created by-

(A) Ensuring full participation of
all students.

Maximum use of visual aids.
Using textbook as a main

source of learning.
Exclude children with special

needs from the class.

How will you recognise a creative

If he creates a poem OF
story of his own.

If he recites a poem.

If he tells a story given in any
book.

If he makes a picture by
observing it from the book.

(A)

(B)

(D)

Statement 1- There are many
factors affecting learning of a

student.
Statement 2- Age and maturity
are the biological factors affecting

learning.
(A) Both the statements are

false.

(B) Statement i js true and

Statement 2 is false.
(C) Both the statements are '

true.
(D) Statement 1is false and

Statement 2 is true.

P.T.O.



154,

155.

156.

157

frafeiRaa 3 2 @l= 3 e sty
gt i gitcanftra femel} & e =g
&
(A) 32 gav
(B) 88 W@
(C) @t fie g
(D) dFTEE WU
TS B T H W AT I,
S v e & snavgadr g
(A) TmUE R fora
(B) 3iifSAT U &1 FamT
(C) T vd HaR Wit &1 3udnT
(D) AN -
f=feRad § § Gorare! Herdmel §
BT @ nfafaftal @ demfea fbar
ST &-
(A) ST
(B) gIver Wlaide
(C) e BeF Tafe
(D) 3R qHI

| @ G bR & gHerd e-

(A) wdn- frenef saferd 0 &
&I P &8

' (B) 3rdcd: YR & UAER B

DuU23

e #&d &

(C) G HIE- FE-3eR B i) |

BT

(D) HaTE - et dfsel

[44]

155.

156.

157.

(D]

Which of the following is NoT ]
teaching learning aid for a Student
with total hlindness-

(A) Audio Books

(B) praille slate

(C) Large print Book

(D) Tactile Maps

The most important skill required
to the teacher in the present time
is -
(A)
(B)
(C)

Writing on the black board

Use of Audio tapes
Use of Information and

communication technology
Lecture

(D)

Which of the following activities
are encouraged in a constructivist
classroom-

(A) Experimentation

(B) Research Projects

(C) Classroom discussions

(D) All of the above

Which one is correctly matched-

(A) Collaboration - Learners
work individually

(B) Observation - making note
of behaviours of animals

(C) Problem solving - copy
~question and answer
(D) Constructivism - Teacher

centric



158.

159.

160.

Du23

'Wasﬁmﬁm%%mm

Faerer 3 Rt oo o) Ry e

(A) 3% et 1Rt o % R
folRa &

(B) ﬁm'mqﬁmﬁi%néﬁ

(C) W st ¥ iy Ry @
IR FHRIE

(D) T fafr gRT smeRoT

HHSTON

aﬁm#mﬁ%%a%sgﬁaﬂg-
(A) TrHe ol

(B) WHISRIGT ol

(C) aBI DI

(D) 3RIH # ¥ DI el

o 3aet el H i fay e

aTeT SO & A 37 a1 BN

(A) Wﬂﬁsmwﬂqﬁréﬁ

(B) T W SRR e 3

(C) TEEE dd-idh BT FNT FredoT
Far

(D) (B) 3k (C) &l

[45]

D

158. What type of activity will you do

159.

160.

in school for the cognitive

development of students-

(A) Give him such activities to do
so that his thinking skill will

develop
(B) Give him question-answers

to learn

(C) "Give him more and more
writing practice

(D) Explain the.concept through

lecture method

What is the role of a teacher in
present time-

(A) Facilitator

(B) Social worker

(C) Speaker

(D) None of the above

If there is a child with special need

in your class then what will you

do?

(A) Ignore him

(B) Gi\.fe extra attention to him

(C) Use multi-sensory approach
in teaching

(D) Both (B) and (C)

P.T.O.



161.

162.

U Frgenof fremeff Y 3t e 3 G
et & sreve @ & for &Y
Mieiiea fasar s wasar 2

(A) Rrerd W grr

(B) wHdsnye qrmef gry

(C) SiyE® & Wt grY

(D) B TY gRI

w5 Rieis 8 & 1 3 Ryenfefa §

SRR T 0T B fIopReg air?

(A) = fmiaRat o

(B) 3% 3MERYT & Frami &) STHBRY
| R

(C) 3 Remerar & Froprer %

(D) 39 ol &7 UTei eares

163. faamell T 3rer IRad &-

DU23

(A) FaX

(B) Ugax
(C) &R

(D) S@H

[46]

161.

162.

163.

D]

How can a failed student pg

encouraged to study sincerely i,
the same class?

(A) by teacher's counselling
(B) by psychological counselling
(C) by guardian's counselling

(D) by Student's Association

How will you develop the Quality

of discipline among the students

as a teacher?

(A) By ~ offering
responsibilities
By giving them knowledge
about rules of conduct

By banishing them from
school

By making them follow the
rules | '

them
(B)
(C)

(D)

The students learn best by-

~ (A) listening

(B) reading
(C) doing

(D) seeing



164,

165.

166. %mwmﬁ%g@aw%-"

Du23

T S A ERRR————.,

Al R v & e R
B TG R ¥ 1) M eaprey
B aar mio.

(A) I R ue

(B) 3R Ry o

(C) A=) (A) 3R (B)

(D) I
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T B & fore Rier @ sar S
& o R o1 1o wnfee?
(A) FFGIGRT

(8) 3rF

(C) gde
(D) T I

[47]

164,

165.

166.

D

Il & teacher wishes to enhance the

creative thinking of the students,
he/she should focus more on-
(A) Convergent thinking

(B) Divergent thinking

(C) Both (A) and (B)

(D) None of these

Which is the best language

I_earnih,g principle that a teacher
should follow to develop the
language of beginners?

(A) Association

(B) Imitation

(C) . Reinforcement

(D) All of these

Main types of teachihg aids are-
(A) Audio aids
(B) Visual aids

(C) Audio-visual aids

(D) All of these .

P.T.O.
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D

167. Which of the following is

168.

169.

characteristic of teaching?

(A) Teaching is a complex social

process.

(B) Teaching is @ professional

activity.

(C) Teaching is an interactive
process.

(D) All of the above.

Which of the following phases of
teaching is the 'Evaluation stage'?
(A) Pre active phase

(B) Interactive phase

(C) Post active phase

(D) None of these

Effective teaching depends on-

(A) physical built of the teacher

(B) dressing sense of the
teacher

(C) knowledge of the teacher

(D) behaviour of the teacher
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170,

171.

172,

D

If a student comes late to the

class, the teacher should-

(A) turn him out

(B) punish him severely and
report the matter to the

- head.

(C) mark hirﬁ absent for a
number of days.

(D) treat him with sympathy and

understanding.

A capable teacher is the one who-

(A) can control the class.
(B) can charge his students to

work with honesty and

hardwork. _
can develop the spirit in his
students to initiate.

(C)
can entertain his class.

(D)

To bring improvement in teaching,

~ a teacher should-

(A) take strict action on

student's mistake.

. (B) act against the policies of

school.

his/her own

(C) correct
mistakes.

(D) criticize previous teachers.

P.T.O.
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173,

174.

1735

(D)

D

How should a teacher behave with.
all the students?

(A) behave like a friend "

(B) behave equally

(C) behave personally

(D) behave in a selfless manner

Teaching is done at which level?
(A) Memory Level

(B) Understandiﬁg Level.

(C) Reflectivé Level

(D) All of the above

Success or failure of co-curricular

activities mostly depends on-
(A) attitude and enthusiasm of
teachers

(B)
(C)

guardians
students

community
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D

176. Which of the following is not a

177.

, (D)

- characteristic of learning?

(A) Learning is a process, not a
product.
(B) All learning is not purposeful

and goal oriented.

(C) The scope of learning is too

wide to explain in words.

None of these

School is a social agency which-

(A) contributes to the raising of

the society to a higher
standarq. _
(B) conserveé and transmits
people.
(C) has certain biological
' endowments.

(D) isolates the good from bad.

178. The most important challenge

before a teacher is-
(A) To maintain discipline in the
' class'room |

To make 's'tudents do their

homework

(B)

(C)
(D)

To prepare question paper
To make teaching learning .

process enjoyable

P.T.O.



179. U 30 TUNS B 3wl {41 TIfev-

(A) e A

(B) g A

(C) ST & 9ANT = H

(D) SO § §RA &7 FANT aRA A

180. Rrere ¥ IsfUd § ®Ra 3 WrE

181.

T B HPIEHS YIS B THTA
o & |

(A) BTAT o WIPId

(B) Trentdal & daHe

(C) e e o sy T

(D) 3R T

Rt & A @I ylfad R arey

&ofthe BRS B F &7

(A) Porers & fE1eror &1 aRid!

(B) forerd grr wan favar war
1. Ud. T,

(C) SyTee-Ser, o e ifiree

(D) f21&Td &1 TN Bler|

DU23

[52]

179.

180.

inf

181.

[D]

A good communicator nNeeds tq
be good at-

(A) speaking

(B) listenind

(C) the use of language

(D) the use of humour in speech

Teacher related factors that

luence learners academic
achievement are-
(A) Acceptance of students

(B) Caring for learners

(C) Effective use of instructional

techniques

(D) All of the above

What are the personal factors
that affect the learning of
students? |

(A)  Teaching style of teacher
(B) TLM used by the teacher
(C) Self concept, interest and

aptituc!e
(D) Communication skill of the

teacher
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182,

183.

184.

D

If a child gets internal satisfaction
from self study, it means he is-

(A)
(B)
(C)

Intelligent
Intrincically motivated
complete his

Want to

chapter as said by the

teacher
(D) Extrincically motivated
Whiéh of the following method is
the 'best for motor learners -
(A) To show a comprehensive

summary of the chapter on

black board.

(B) Teach him through audio

tapes.
(C) Give him activities to do.
(D) Use of audio-visual material

for teaching.

The objectives for con_du'cting

- physical activities in school should

be -
(A)
(B)

physical fitness of students
to develop team spirit in
students
to develop self-discipline in
students

All of the above

(C)

(D)

P.T.O.
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(D)

D

Which of the following question

best evaluates the understanding

of students?
(A) India got independence on--

(B) Whois called as father of the
nation?

Néme the national animal of
India.

What is a balanced diet? Give

example.

Which of the following activities

7 wili 'help in the development of

emotiohal skills in students?
('A) Dance and Drama

(B.) Doing homework

(C) _Reading a poem

(D) Playing indoor games

The salient feature of School
Based Assessment is-

(A) " Lectur
(B)
(C)

‘Lecture based pedagogy
Teacher centred pedagogy
Child centred and activity
based pedagogy

(D) 'Pedagogy

based on

t-ext_bobks v LR
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188.

189.

190.

[D]

The factors affecting the learning
of students are-

(1)
(2)
(3)
(4)
(A)
(B)
(C)
(D)

Teaching Method
Interest

Stress

Fatigue

1,2, 3

1, 2; 3,%

2,3; 4

1,2,4

The characteristic of creative

childrenis - -

(A) Expression
thoughts

(B) Creation of poem or story

(C) Both (A) and (B)

(D) None of the above

of original

If as a teacher you want to study
the behaviour of students
studying in the classroom, then

which of the following method will

be most appropriate?

(A) Interview method

(B) Sociometric method
(C) Observation method
(D) Case study method

P.T.O.
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191.

192,

Cooperative learning environmentg
can be effectively created by-

(1) forming small mixed ability

group of learners.

giving individual tasks tq

(2)
students
(3) giving group activities tq
students.
(A) Only .2
(B) 1&2

(C) 28&3

(D) 1&3

Statement : A positive
classroom environment enhances
academic achievement and helps
to

promote appropriate

~ classroom behaviour in students.

Explanation : By promoting
hea[thy relationships and values
among all students, a positive
learning environment can be

created.

(A) Both statement and
explanation are correct.
(B) .Both  statement and

explanation are incorrect.
(C) Statement is correct and
explanation is incorrect.
(D)

Statement is incorrect and

explanation is correct.



194.

195

Du23

JGERE -

(A) T FiSpa ¥ Y urd 981 fooar
ST 37Ug |fea w9 § i
foar e &1

(B) 3ferH @ ve ftpg uftear &
w7 § @7 ST 2 |

(C) T fErers diad greaion 2

(D) IR H I PIs &l

HRPROT TT §°
(A) UF 3magddpal 3rmal §I 3
. ZaER @I 9Ifth &dl & 3R 34

- HRaeadl

(B) fordit 7t wae/ Rerfar & fore
od 7 Tf A 3rfhar B
@I ygrl :

(C) 1S uRRaifat &1 wgemer &
J AT A $F Argar|

(D) 39! dled &fth & 35 faari

@ 9qd &

[57]

[D]

193. Which of the following things -

194.

198.

(B)

(B)

should be kept in mind for
designing Co-curricular activities

for students?
(1) activities should be age

appropriate.

it should focus on only
psychosocial development.
it should be according to the
interest of students.

182

1,2&3

28&3

1&3

(2)
(3)
(A)
(B)
(©)
(D)

Which of the following option is

 related to constructivism-

Knowledgé is not passively
received but actively built.

Learning is seen as a passive

(A)

process.
It is teacher centric approach.
None of the above

(©)
(D)

What is motivation?

(A) A need or desire that
energises and directs

behaviour.

Tendency to respond to a

new problem/ situation in the

manner used for a previous

one. :

(C) The ability to deal effectively
with novel situations.

(D) .1t refers to unique set of

individual's thought.

P.T.O.
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. The

Y

iat&u
h the pl"OCESSeS of knOWin

mental activities assoc

wit

and €X

§
periencing such as tho“ﬂht

perceptionr attention, pr°blem

olving etc- are related to-
5

A) Cognitive processes

(

(B) gocial processes

(C) Biological processes

(D) Emotional processes

If a teacher gives value to himse
then th-is means he has high-
(A) Self c'oncc;pt

I(B) Self esteem

(©) Self image

(D) Self identity

If a student ha_s a specific capacity
to do a task well, it means he has

an __for that,

(A) Attitude

(B) Awareness

(C) Aptitude

(D) Interest
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D

199. During classroom teaching which

200.

(D)

of the following things should be

given more importa_nce—

(1) to ensure participation of
each student

to understand individual

(2)
differences

(3) to develop lesson plan

according to brilliant students

only.

(4) to teéch .according to the

pace of learning of students

1, 2,3

2, 3, 4

1, 3,4

1,2, 4

(A)
(B)
(C)
(D)

Which of the following are the

components of moral

development-

(A)

-to distinguish between right
and wrong

(B) to_-put oneself in others
poéition

(C)

to help others when they are

in trouble

All of the above

P-'T'.O-



